
Essential Question: Why is the Treaty of Nanjing an “unequal treaty”?
Read: The Treaty of Nanjing (pay special attention to Articles 2,3,6) using close and critical reading strategies. 

Analyze: Analyze the contents of the treaty and explain what the British gained and what the Chinese lost. Based on your finding explain why the treaty is labeled a “unequal treaty.”

Write: Write a two paragraph response to explain why the Treaty of Nanjing was an unequal treaty. 

The British gained a large amount while the Chinese lost a great deal. Explain what the Chinese lost (like money, land, and control) and how the British gained money, land, and control. Your first paragraph should describe what China lost, citing specific examples from the articles of the treaty. The second paragraph should describe what the British gained in the treaty and how they became stronger in Asia as a result.

Follow the rubric for more specific directions.

Opening paragraph sentence stem possibilities

1) How would you feel if another person forced you to pay them for a war they started, give them some of your favorite land, the ability to go around your laws/customs, and destroyed much of your navy?
2) The Treaty of Nanjing is called an “unequal treaty” because.... begin explaining your reasons that you will use evidence from the treaty to back up or prove.

